Year 6 Extension Arithmetic Test 5 teStbase

468,888 + 1,000 + 1,000 =
1 mark
675,555 + 987 =
1 mark
2,716
X 7
1 mark
121,010 - ?=111,005
1 mark
725,305
— 359,619
1 mark
1,571 +7=
1 mark
-12-5=
1 mark
4200+7=
1 mark
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Year 6 Extension Arithmetic Test 5 teStbase

40x90-50=

1 mark
820,000 - 405,000 =

1 mark
4,500 + 300 =

1 mark
310-4x60=

1 mark
777,999 + 12 =

1 mark
40 x 120 =

1 mark
500 x 60 =

1 mark
4,11 x 1000 =

1 mark
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Year 6 Extension Arithmetic Test 5 teStbase

162.4 = 100 =
1 mark
1 1
— X — =
3
1 mark
2
0.6=—
50
1 mark
0.8x8=
1 mark
487
x 39
2 marks
2
80% = —
20
1 mark
22 +3%2+11%=
1 mark
22872 +5.6 =
1 mark
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Year 6 Extension Arithmetic Test 5 teStbase

30+6x2-5=

1 mark

82.99

X 9

1 mark
481.8 - 9.394 =

1 mark

3196

X 48

2 marks
60.4+8=

1 mark
43}9875 =

2 marks
3 7
—_—t — =
4 12

1 mark
S.7-
6

1 mark
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Year 6 Extension Arithmetic Test 5

testbase

7_4_
3 5

1 mark
98% of 240 =

1 mark
l+3=
3

1 mark
4—x4 =

1 mark
2§+1E =

7
1 mark
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